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For questions 16-20 begin with the polygon that it marked (¥)

16. Describe the transformation of the polygon. (b=4.5)

Translated 7 units down, 9 units left
Translated 9 units down, 5 units left
Translated 9 units down, 9 units left
Translated 9 units up, 5 units right
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17. Describe the transformation of the polygon{e-4.5)

Translated 1 unit down, 8 units right
Translated 8 units down, 1 unit left
Translated 9 units down, 1 unit left
Translated 8 units down, 1 unit right
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18. Describe the transformation of the polygon. (6-4.5)
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Translated 6 unit down

Translated 6 units down, 1 unit left
Translated 7 units down

Translated 7 units down, 1 unit right
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